Radny termin zkousky z analyzy dat - 13. 1. 2005

Skupina A: 9.00 hod.

uco 1 2 3 4 5 Pr1 Pr2 Pr3
3 body 3 body 3 body 3 body 3 body 5 bodu 5 bodu 5 bodu
102896 0,5 0 2 0 1,5 4,5 1,5 0
21634 2 3 3 1 3 4 3 4
78745
103012 2 0 1 1 1,5 2,5 0 3
102733 3 3 3 3 3 5 1 4
54912 3 1,5 3 3 2 2 2,5 0
75303 3 2,5 2,5 2 2 4,5 3 4
66614 3 3 3 3 2,5 4 2 3,5
65483 1 2 0 1,5 0 2,5 0 3
|Hodnoceni: A: 30-29; B:28-25; C:24-22; D:21-19; E: 18-16; F:15-0 |
Skupina B: 10.30 hod.
uco 1 2 3 4 5 Pr1 Pr2 Pr3
3 body 3 body 3 body 3 body 3 body 5 bodu 5 bodu 5 bodu
113185 3 3 2 3 1,5 3,5 0 1
68994 3 3 2,5 3 2,5 2,5 1 4
103132 2 3 3 1 1,5 2,5 5 3
121095 2 3 2,5 3 3 5 1 4
102911 2 3 2 1 3 5 3 3
112969 0 0,5 2 0,5 3 1,5 0,5 0
78721 0 2 0,5 1,5 0 2 1 0
102904 2 2,5 2 2 3 4 5 3
78759 2 3 3 2 2,5 3 3 1
103020 2 0 0 0 0 3 0 0
103236 2 1,5 2,5 2 3 4 5 3
78098 3 3 3 3 3 1 1 3
78988 1,5 3 3 3 3 3 5 3
103078 3 2 3 2 3 1,5 0,5 2
102859 2 3 2 1 2 4 1 3
|Hodnoceni: A: 30-29; B:28-25; C:24-22; D:21-19; E: 18-16; F:15-0 |
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